## Unique Auctions Catalogue 19 Jun 2018

- 1 2 shelves of assorted spanners. £10.00 £20.00
- A box of sundry hand tools and a small box of assorted fixings (screws, nails etc). £10.00 -£20.00
- 3 An electric 'Airmate Jet 30' car pump and 2 car battery chargers. £10.00 £20.00
- 4 A 'Sub 2000' submersible electric water pump. £10.00 £20.00
- 5 A box of 45 rpm records. £10.00 £20.00
- 6 A submersible electric water pump. £10.00 £20.00
- 7 A large electric hammer drill. £10.00 £20.00
- 8 4 stone ware jars. £10.00 £20.00
- 9 3 electric power tools drill, angle grinder and sander. £20.00 £30.00
- 10 A Funai VHS video and DVD player. £10.00 -£20.00
- 11 A manual chain hoist with lifting bar accessory. £10.00 £20.00
- 12 Various gas torch/welding hand sets and silicon bronze rods. £10.00 £20.00
- 13 A box of various hand tools, £10.00 £20.00
- 14 2 boxed power drills one heavy electric and one 12V battery drill. £20.00 £30.00
- 15 2 VHS recorders. £10.00 £20.00
- 16 A quantity of retro metal ware including heatmaster teapot. £10.00 - £20.00
- 17 2 power lanterns and other items, £10.00 £20.00
- 18 A shelf of games including scrabble. £10.00 £20.00
- 19 A shelf of car related items including jacks etc., £10.00 £20.00
- 20 A quantity of garden tools. £10.00 £20.00
- 21 2 garden strimmers. £15.00 £20.00
- 22 A very large lot of cricket related books. £20.00 £30.00
- 23 A work bench together with a quantity of heavy/large adjustable wrenches, spanners etc and a differential pressure manometer (cased). £10.00 £20.00
- 24 Various heavy pipe tools including pipe benders, cutters, threaders etc., £10.00 - £20.00
- A Victorian mahogany tripod circular dining table (in need of some attention to top fixings). £30.00 £50.00
- 26 A good quality bedroom chair. £10.00 £15.00
- 27 Approximately 30 collector's and other plates. £20.00 £30.00
- 28 A Priory style dresser. £15.00 £20.00
- 29 A mixed lot of Corgi and Lledo models, an AA

- badge, and RAC badge, Beano playing cards etc (2 shelves). £15.00 £20.00
- 30 2 shelves of assorted boxes and cannisters. £15.00 £20.00
- 31 A set of 24 plates by Harrods in white with blue edging and lion emblem with latin motto 'Fide Sed Cui Vide'. £10.00 £20.00
- 32 A Delta sewing machine. £10.00 £30.00
- A pair of Cornish 'Foster's Pottery' gurgle jugs, an amber glass vase and a 1950's amber glass jug. £12.00 £15.00
- 34 A boxed Hitachi television. £20.00 £30.00
- 35 A 1930's sideboard. £10.00 £20.00
- 36 An oak Monk's bench that converts to table and with storage to base. £20.00 £30.00
- 37 An oak hall cabinet. £15.00 £20.00
- 38 A garden figure of a rabbit. £10.00 £20.00
- 39 An electronic chess set, 2 other chess sets etc., £10.00 £20.00
- 40 A double pedestal desk with green leather inset top. £80.00 £120.00
- 41 A stereo unit, 400w output, with speakers. £80.00 £120.00
- 42 A Bang & Olefson Beocord 5000 cassette deck, Beomaster 5000 tuner/amplifier and 6514 speakers. £10.00 - £20.00
- 43 A Bang & Olefson Beovision avant 28 television with remote control. £10.00 £20.00
- 44 3 old tin trunks. £10.00 £20.00
- 45 A record cabinet. £20.00 £30.00
- A mixed lot of brassware including toasting forks, incomplete companion set etc., £15.00 £20.00
- 47 4 items of coloured glass. £10.00 £15.00
- 48 A mixed lot of Aynsley including pair of vases etc., £12.00 £15.00
- 49 A pair of short antlers, a large brass key and a Chesterman rule. £12.00 £15.00
- 50 A pair of circular mirrors. £10.00 £20.00
- 51 2 boxes of assorted textiles. £10.00 £20.00
- 52 An LG music centre with speakers. £50.00 £70.00
- A bird bath and 3 garden pots. £20.00 £30.00
- 54 An oak corner cupboard. £20.00 £30.00
- A Bang & Olefson Becord 1100 tape deck, Beocentre 1800 record player and pair of Beovox P30 speakers. £10.00 - £20.00
- 56 A nest of 3 oak tables. £15.00 £20.00
- 57 A large street scene on canvas signed N Broughton. £10.00 £20.00
- 58 An unusual glass bead parrot. £10.00 £20.00

- 59 A vintage table lamp with shade surmounted robin. £10.00 £20.00
- 60 An acoustic guitar in soft case. £10.00 £20.00
- 61 An 18 piece rose decorated tea set. £10.00 £20.00
- 62 A china cabinet. £10.00 £20.00
- A quantity of farming and agricultural books, 1959 Perkings Engines hand books and an early Ford road map. £10.00 £20.00
- 64 A copper coal scuttle. £15.00 £20.00
- 65 A small three drawer chest. £15.00 £20.00
- 2 end tables, cut down and both having only 2 legs. £10.00 £20.00
- 67 A small oak table. £10.00 £15.00
- 68 A ceramic stick stand containing walking sticks. £20.00 £30.00
- 69 An oak gate leg table. £20.00 £30.00
- 70 A Compare the Meercat 'Yakov' meercat and meercat books. £10.00 £20.00
- 71 A good sized mahogany double pedestal desk. £80.00 £120.00
- 72 A table lamp with shade in the form of an owl. £10.00 £20.00
- 73 2 part tea sets. £10.00 £20.00
- 74 A small mahogany shelf unit. £10.00 £15.00
- 75 An oak elbow chair,. £10.00 £20.00
- 76 2 garden sprayers. £10.00 £15.00
- 77 3 mantel clocks, £15.00 £20.00
- 78 A shelf of assorted camera's etc., £10.00 £20.00
- 79 A china tea set. £10.00 £20.00
- 80 A box of Sticker Art temporary tattoos. £10.00 £15.00
- A collection of comic and graphic novels including Silver Age, Batman, Superman etc., £30.00 £40.00
- 82 2 copper jugs and one other. £10.00 £20.00
- 83 4 large pottery horses. £10.00 £20.00
- 84 A shelf of pocket dragons etc., £10.00 £20.00
- A mixed lot of comics and magazines including Doc Savage, Space Frontiers, Judge Dress Yearbook, Blade Runner poster etc., £10.00 £20.00
- 86 2 Barometers. £10.00 £20.00
- 87 A Halfords 1.8 tonne trolley jack. £10.00 £20.00
- 88 A pair of chairs with cane seats and a child's chair. £10.00 £20.00
- 89 A Bush television. £20.00 £30.00
- 90 A mixed lot including Iphone protective shields, Ipod protective shields. adjustable hair accessories etc, 3 shelves. £10.00 £20.00
- 91 A mixed lot of clocks. £10.00 £20.00

- 92 A Yardley's figure and a Leonard figure. £10.00 £20.00
- 93 A large collection of assorted figures (one shelf). £10.00 £20.00
- 94 A mixed lot of 45 rpm and LP records including 1960/70/80's. £20.00 £30.00
- 95 A ceramic bowl on metal stand, a Crown Devon bowl and three other items. £10.00 £20.00
- 96 2 shelves of garden ornaments including gnomes. £20.00 £30.00
- 97 A builders plate for Adams Hydraulics Ltd, 3
  German plaques and other items of brass ware.
  £10.00 £20.00
- 98 A mixed lot of glass ware. £10.00 £15.00
- 99 A mixed lot including wooden busts, carved horn etc., £10.00 £20.00
- 100 2 boxes of assorted textiles. £10.00 £20.00
- 101 2 model boats, a model lighthouse etc., £10.00 £15.00
- 102 A large quantity of hand painted continental table ware. £15.00 £20.00
- 103 A Nintendo Wii sport, Wii fit etc., £20.00 £30.00
- 104 2 boxes of assorted records. £10.00 £20.00
- 105 2 Flymo lawn mowers. £10.00 £20.00
- 106 A shelf of assorted clocks. £10.00 £20.00
- 107 A quantity of Lego, Mine craft books, Disney cars remote control trucks, Thomas books etc., £20.00 £30.00
- 108 A shelf of commemorative china. £10.00 £20.00
- 109 A case of LP records, a Camp Bird Wondergram compact record player, slide projector and framed poster prints. £10.00 £20.00
- 110 A Melba ware bull and a labrador. £12.00 £15.00
- An Old Foley jug and bowl, an Allerton's cream jug and bowl, a Sadler pot, A Sylvac teapot and a Noritake dish. £12.00 £15.00
- 112 A shelf of Wedgwood dinner ware etc., £10.00 £20.00
- 113 A mixed lot of metal tea ware etc., £10.00 £20.00
- 114 2 boxes of assorted fabrics. £10.00 £20.00
- 2 shelves of Doctor Who collectables includingK9, books, DVD's, Tardis etc., £20.00 £30.00
- 116 A shelf of Top Gear collectables and a table globe. £20.00 £30.00
- 117 A shelf of animal figures including Cooper craft dog,. Goebel etc., £10.00 £20.00
- 118 A mixed lot of assorted children's puzzles, cards, collector's stickers etc including The Muppet Show, Ivor the Engine, Marvel Heroes, Kellogs etc., £10.00 £20.00
- 119 2 pottery cats. £10.00 £20.00
- 120 A mixed lot of collectable's including Hunger

- Games books, a Stranger Things T Shirt, Enchanted World books etc., £10.00 - £20.00
- 121 A shelf of assorted oriental porcelain. £20.00 £30.00
- 122 A mixed lot of cased cutlery including fish set and a boxed Coalport dish. £10.00 £20.00
- 123 A box of assorted textiles. £10.00 £20.00
- 124 5 shelves of Nintendo Wii accessories, DS traveller packs etc., £10.00 £20.00
- 125 2 suitcases. £8.00 £10.00
- 126 A quantity of Chillington Bristow Devon pottery ware and Cinque Ports Rye Pottery coffee set. £25.00 £35.00
- 127 A shelf of assorted glass ware. £10.00 £20.00
- 128 A cased cutlery set, a Portmerion tureen, marble cake plate etc., £10.00 £20.00
- 129 2 camcorders etc., £10.00 £20.00
- 130 A gout stool and a magazine rack. £10.00 £20.00
- 131 A shelf of assorted silver plate etc., £10.00 £20.00
- 132 A shelf of LP box sets. £10.00 £20.00
- 133 A Pfaff 332 sewing machine in case. £10.00 £20.00
- 134 A mixed lot of wines etc and a wine rack. £10.00 £20.00
- 135 A large copper tray and a copper coal scuttle. £10.00 £20.00
- 136 A shelf of Subbuteo items including teams, football pitch etc., £20.00 £30.00
- 137 A full size cardboard cut out of a Dalek and Matt Smith as Doctor Who, A Tardis console, a Doctor Who jigsaw puzzle (unopened), an LP Record 'The Time Lords', a quantity of Doctor Who Magazines and a box of Lego. £20.00 £30.00
- 138 A trea lobber. £10.00 £20.00
- 139 A Wicker chair. £10.00 £20.00
- 140 11 assorted walking sticks. £20.00 £30.00
- 141 A shelf of glass and china fruit bowls etc., £10.00 £20.00
- 142 A quantity of patterns and accessories. £10.00 £20.00
- 143 A pair of bedroom chairs and a foot stool. £10.00 £20.00
- 144 3 mantel clocks. £20.00 £30.00
- 145 2 shelves of Hornsea table ware. £20.00 £30.00
- A quantity of cricket and sporting books including Sportsman's book club. £10.00 £20.00
- 147 5 glass cake stands and a glass cake plate. £15.00 £20.00
- 148 A contemporary oriental style vase. £12.00 £15.00
- 149 A 3 piece silver plate tea set and other silver plate

- items (1 shelf). £15.00 £20.00
- 150 A quantity of 'Autosport' magazines, mainly 1950's. £10.00 £20.00
- 151 A framed and glazed print entitled 'The Thermopylae leaving Foochow' by Montague Dawson. £15.00 £20.00
- 152 6 elephants in a row. £10.00 £20.00
- 153 A good quality oak drinks cabinet. £30.00 £40.00
- 154 A wall clock and a stag head barometer. £10.00 £20.00
- 155 A brass framed cheval mirror. £20.00 £30.00
- 156 A pair of continental porcelain figures. £20.00 £30.00
- 157 A cut glass candle lamp and a Royal Doulton glass photo frame. £15.00 £20.00
- 158 A cased set of fish knives and forks, cased set of butter knives and cased dessert cutlery set. £10.00 £20.00
- 159 A Royal Winton fruit set. £10.00 £20.00
- 160 A Smith's bakelite wall clock. £15.00 £20.00
- 161 A Torquay ware coffee pot. £10.00 £15.00
- 162 An oak mantel clock. £10.00 £20.00
- 163 A porcelain Kingfisher and a Sherratt and Simpson eagle. £15.00 £20.00
- 164 A shelf of assorted glass ware. £10.00 £20.00
- 165 A pair of Italian jugs and a charger. £10.00 £20.00
- 166 A vintage dial telephone. £10.00 £20.00
- 167 2 Disney photo frames. £8.00 £10.00
- 168 A shelf of assorted glassware. £10.00 £20.00
- 169 2 Royal Albert porcelain posies, 2 others and a vase. £10.00 £20.00
- 170 8 boxed Great British buses. £20.00 £30.00
- 171 2 small boxes, magnifying glass etc., £10.00 £20.00
- 172 A quantity of cased cutlery sets. £10.00 £20.00
- 173 A framed and glazed study of aircraft in flight by Barrie A F Clark. £15.00 £20.00
- 174 A nice four shelf narrow book case. £15.00 £20.00
- 175 A set of 4 framed and glazed prints illustrating proverbs after Grace H May. £20.00 £30.00
- 176 A stained television stand. £10.00 £20.00
- 177 A pair of Staffordshire vases, a/f. £10.00 £20.00
- 178 A silver plate tea set and kettle. £20.00 £30.00
- 179 A 15 piece coffee set together with 6 coffee cans and saucers. £10.00 £20.00
- 180 A glass liquor decanter with glasses and a glass fruit set. £10.00 £20.00
- 181 5 items of 'The Art of Chokin' Japanese ware with 24k gold edging and one item of Seba. £10.00 £20.00

182	A coin collector's display cabinet. £10.00 - £20.00	213	2 coloured glass baskets. £10.00 - £20.00
183	A 'Teddies with Love' limited edition Megan Teddy bear. £10.00 - £20.00	214	A porcelain ink well and a cake stand. £10.00 - £20.00
184	An antique French burner and a house bell. £10.00	215	A box of LP records. £10.00 - £20.00
405	- £20.00	216	A large jug, a vase and an urn. £20.00 - £30.00
185	A framed and glazed print of a steam locomotive. £15.00 - £20.00	217	A shelf of alcohol miniatures. £20.00 - £30.00
186	A pair of Victorian brass fire dogs. £20.00 - £30.00	218	A pair of candlesticks, 2 lidded pots, vase etc., £10.00 - £20.00
187	A good quality lead glazed oak book case. £30.00 - £50.00	219	A strainer on stand and other items of table ware. £10.00 - £20.00
188	4 gilt framed floral studies. £20.00 - £30.00	220	A box of magazines. £10.00 - £15.00
189	A pair of Walker & Hall mugs, 4 Norway pewter measures and a white metal bracelet. £10.00 - £20.00	221	A Past Times ceramic clock and matching candlesticks. £10.00 - £20.00
190	A shelf of drinking glasses including pheasant decorated. £10.00 - £20.00	222	A 1940's studio pottery vase, floral design, signed but cannot properly decifer. £15.00 - £20.00
191	A shelf of figures etc., £10.00 - £20.00	223	6 trios of Royal Albert Provincial flowers teaware £20.00 - £30.00
192	3 shelves of assorted tea ware. £20.00 - £30.00	224	A shelf of vintage kitchen stone ware and enamel
193	2 shelves of alcohol miniatures. £20.00 - £30.00		ware. £10.00 - £20.00
194	A shelf of coloured glass ware. £10.00 - £20.00	225	A shelf of vintage desk top items. £10.00 - £20.00
195	A shelf of assorted cutlery. £10.00 - £20.00	226	A box of assorted plates. £10.00 - £20.00
196	A shelf of vintage camera's. £20.00 - £30.00	227	A vase and a figure. £10.00 - £20.00
197	A quantity of Beano annuals and a Teddy bear. £10.00 - £20.00	228	A 750ml bottle of Glenfiddich Whisky. £10.00 - £20.00
198	2 gilt framed mirrors. £10.00 - £20.00	229	A 'Jacobean' patterned vase. £10.00 - £20.00
199	A shelf of miscellaneous including pigs, lidded pot etc., £10.00 - £20.00	230 231	A shelf of glass ware. £10.00 - £20.00  A pair of hand painted vase and one other. £15.00 -
200	A shelf of miscellaneous ceramics including Aynsley. £10.00 - £20.00		£20.00
201	A matching pair of solid brass oil lamp bases.	232	3 large Chinese bowls. £20.00 - £30.00
	£20.00 - £30.00	233	A 7 piece fruit set. £10.00 - £20.00
202	A shelf of miscellaneous games, stationary box etc., £10.00 - £20.00	234	A box of various play worn die cast toys including Corgi, Dinky, Matchbox etc., £10.00 - £20.00
203	2 Portmerion plates, a Portmerion clock and a Portmerion vase. £15.00 - £20.00	235	A collection of clerical clothing including Cassock, preaching scarves, Rabat waistcoat etc., £10.00 - £20.00
204	A collection of vintage and modern board games	236	A 'Chelsea' aluminium sign. £20.00 - £30.00
	including Sherlock Holmes, The Dickens game, Tufty, Subbuteo etc., £20.00 - £30.00	237	A studio glass ornament. £10.00 - £20.00
205	An Edwardian stained wood fire screen with embroidered panel inset. £10.00 - £20.00	238	Approximately 60 pieces of Royal Albert Old Country Roses tea and dinnerware including
206	A shelf of assorted glass bowls, £10.00 - £20.00	000	tureens, cake stands, clock etc., £80.00 - £120.00
207	A quantity of camera's including Coronet twelve 20, Olympus, Polaroid etc., £10.00 - £20.00	239	A mixed lot of blue and white, some a/f. £10.00 - £20.00
208	A quantity of play worn die cast Corgi, Dinky and Matchbox toys. £20.00 - £30.00	240 241	2 boxes of LP records. £10.00 - £20.00 A superb quality hand enamelled glass vase
209	A music centre. £10.00 - £20.00		(possibly Russian in origin). £20.00 - £30.00
210	A mixed lot including carved head. £10.00 - £20.00	242	2 Chinese vases. £20.00 - £30.00
211	4 items of Royal Creamware porcelain including	243	A quantity of whisky miniatures. £20.00 - £30.00
212	puzzle jug. £15.00 - £20.00  A quantity of Lion annuals and football annuals.	244	A blue and white vase and a flo blue dish,. £10.00 - £20.00
<u> </u>	£10.00 - £20.00	245	A mixed lot of silver plate including cruets. £10.00 - £20.00

246	2 items of studio glass. £10.00 - £20.00		£120.00
247	2 sewing machines and an Easy sew. £10.00 -	280	A lawn mower. £10.00 - £20.00
2.11	£20.00	281	A Dyson vacuum cleaner. £10.00 - £20.00
248	A box of books. £10.00 - £20.00	282	A leather saddle and a box of tack, £20.00 - £30.00
249	A large pair of vases, one a/f. £10.00 - £20.00	283	A quantity of garden tools. £10.00 - £20.00
250	A carnival glass bowl and 2 other glass items. £10.00 - £20.00	284	A roofing ladder with working platform. £20.00 -
251	5 items of china including Royal Doulton and Royal Crown Derby. £10.00 - £20.00	285	£30.00 An aluminium ladder. £10.00 - £20.00
252		286	A 4 drawer filing cabinet. £15.00 - £20.00
252	6 items of china including Spode jug. £10.00 - £20.00	287	An old projector with screen etc., £10.00 - £20.00
253	A Limoges trinket pot and a pair of vases. £10.00 - £15.00	288	A quantity of garden tools, canes etc., £10.00 - £20.00
254	A quantity of fine bone china tea ware by Ranella, a quantity of Rosethal of Bavaria teaware together	289	A pot cupboard (missing top) and a small table. £10.00 - £20.00
	with other ceramics, mainly plates. £15.00 - £20.00	290	A quantity of garden tools. £10.00 - £20.00
255	6 teapots including gilded examples. £10.00 -	291	A quantity of pictures. £10.00 - £20.00
	£20.00	292	An old stool. £5.00 - £10.00
256	Approximately 50 pieces of Royal Albert Old	293	A quantity of golf bags and clubs. £10.00 - £20.00
	Country Roses tea and dinnerware together with 2 sets of place mats. £80.00 - £120.00	294	A set of 4 chairs. £15.00 - £20.00
257	A mixed lot of glassware. £10.00 - £20.00	295	A mahogany bed surround. £20.00 - £30.00
258	A box of books. £10.00 - £20.00	296	A Toshiba television. £15.00 - £20.00
259	2 glass decanters and other glass ware. £10.00 -	297	A mahogany inlaid sideboard. £20.00 - £30.00
260	£20.00 A pair of Royal Cream ware candlesticks and one	298	A good single divan bed with mattress. £20.00 - £30.00
	other. £10.00 - £20.00	299	An 10 x 8ft Petra summer house with assembly instructions. £150.00 - £180.00
261	6 Japanese collector's plates of various floral scenes. £10.00 - £20.00	300	A mixed lot of tools and tool box. £10.00 - £20.00
262	An Organette roller organ, working but need music	301	A cased Bosch power drill, £20.00 - £30.00
	rolls. £80.00 - £120.00	302	A mixed lot of angling items and tools etc., £10.00
263	A tea for two set on tray. £10.00 - £20.00	002	- £20.00
264	A Meakin dinner set. £10.00 - £20.00	303	A collection of approximately 22 jigsaw puzzles
265	A folding garden table and 2 chairs. £10.00 - £20.00		including Wasgij, 1000 piece puzzles etc., £10.00 - £20.00
266	A car roof rack - no keys. £10.00 - £15.00	304	A pottery table lamp with shade. £10.00 - £20.00
267	A Russell Hobbs chest freezer. £20.00 - £30.00	305	5 boxed limited edition golden puppy plates by
268	A Hotpoint fridge freezer. £20.00 - £30.00		Paulette Braun, with certificates. £10.00 - £20.00
269	An AEG fridge freezer. £20.00 - £30.00	306	A good quality oak coffee table. £15.00 - £20.00
270	A Bosch tumble dryer. £20.00 - £30.00	307	A large old cow bell. £10.00 - £15.00
271	A Bendix washing machine. £20.00 - £30.00	308	An Arctic fox fur. £10.00 - £20.00
272	A wood and metal garden bench. £20.00 - £30.00	309	4 bongo drums and 2 others. £10.00 - £20.00
273	A quantity of garden and other tools. £10.00 - £20.00	310	A small drum table and a wine table. £10.00 - £20.00
274	A hedge trimmer, £10.00 - £20.00	311	An oak fire screen with embroidered panel. £10.00 - £20.00
275	A Kirby vacuum cleaner. £20.00 - £30.00	312	A quantity of boxed and unboxed die cast models
276	A cabinet sewing machine. £10.00 - £20.00	0.2	including Lledo. £20.00 - £30.00
277	A quantity of fishing rods. £10.00 - £20.00	313	A large Staffordshire lidded vase. £20.00 - £30.00
278 279	A computer security cabinet. £10.00 - £20.00 A 1980's Honda Melody scooter (shed find, no	314	A collection of tea cups and saucers including Aynsley, Japanese etc., £20.00 - £30.00
	documents or registration number). £80.00 -	315	4 brass trays. £15.00 - £20.00
idMaster	Office 5		

316 317	A mahogany wig stand. £10.00 - £20.00  An Italian white hors d'ouvres dish. £10.00 - £20.00	350	2 pearl necklaces, 3 pearl bracelets and one other necklace. £10.00 - £20.00
318	A large pottery vase. £10.00 - £20.00	351	A mixed lot of cuff links, tie pins etc., £10.00 - £20.00
319	A Tiffany style table lamp. £10.00 - £20.00	352	A mixed lot of badges. £10.00 - £20.00
320	A picnic basket and contents for 2 people. £15.00 -	353	A mixed lot of wrist watches. £10.00 - £20.00
321	£20.00 A mixed lot of silver plate. £10.00 - £20.00	354	A bracelet of farthings and a charm bracelet including silver threepenny bits. £20.00 - £30.00
322	A 21 piece Colclough tea set. £15.00 - £20.00	355	A ladies white metal fob watch a/f and a brass full
323	A pottery jardiniere. £10.00 - £15.00	000	hunter pocket watch with key a/f. £10.00 - £20.00
324	A nest of 3 tables. £10.00 - £20.00	356	3 vintage billiard balls. £20.00 - £30.00
325	An oak cased mantel clock with 3 stars marked to mechanism. £30.00 - £40.00	357	A mixed lot including pen knives, badges, cigarette lighter, 2 powder compacts etc., £10.00 -
326	A glazed book case. £10.00 - £15.00		£20.00
327	A wooden tool chest containing metal working tools including taps, dies, callipers etc., £20.00 - £30.00	358 359	2 Lladro figures and one other. £10.00 - £20.00  A German Dresden lattice figure of a ballerina. £15.00 - £20.00
328	A box of electric hand tools (sanders, drill etc.)	360	A preserved snake. £10.00 - £20.00
000	some cased. £20.00 - £30.00	361	A Nadal clown and boy with dog. £10.00 - £20.00
329	A good quality bedroom chair, £30.00 - £40.00	362	A Schatz anniversary clock. £10.00 - £20.00
330	A pair of framed and glazed silhouettes of soldiers. £20.00 - £30.00	363	4 framed and glazed animal pot lids. £20.00 - £30.00
331	A figural table lamp. £10.00 - £20.00	364	A porcelain figure of a French soldier. £10.00 -
332	A brass oil lamp with pot base complete with shade and chimney. £30.00 - £40.00	365	£20.00 An Apple Ipad with heavy duty case. (restored
333	A mahogany nursing chair. £20.00 - £30.00		back to factory settings & unlocked) £50.00 -
334	A BSA air rifle with pellets. £20.00 - £30.00		£70.00
335	A tray of costume jewellery. £10.00 - £20.00	366	A marble perpetual calendar. £10.00 - £20.00
336	A tray of costume jewellery. £10.00 - £20.00	367	An Apple Ipad with heavy duty case. £50.00 - £60.00
337	13 Wade Whimsies. £10.00 - £15.00	260	
338	A mixed lot of wrist watches and jewellery. £10.00 - £20.00	368	A quantity of Morestone & Budgie dies cast Noddy cars, trains and bike. £10.00 - £20.00
339	2 trays of European stamps all in envelopes. £20.00 - £30.00	369	A Triang Minic tinplate clockwork jeep and a plastic clockwork ocean liner. £10.00 - £20.00
340	3 Beswick horses (2 A/F) and a Beswick cow, a/f. £10.00 - £15.00	370	A Chinese Morris Minor van, A Matchbox Mercedes Benz, and a tin plate motorcycle with sidecar. £10.00 - £20.00
341	A mixed lot of coins and a LLoyds bank money box. £10.00 - £20.00	371	A Brussell's, Antwerp Cathedral and Lincoln Imp doorknockers etc., £15.00 - £20.00
342	A mixed lot of wrist watches. £10.00 - £20.00	372	2 John Lennon Books being 'A Spaniard in the
343	A wooden box containing assorted coins. £10.00 - £20.00	373	Works' and 'In His Own Write'. £25.00 - £35.00 A solitaire board made from medieval oak from
344	A set of 9 spot dominoes. £15.00 - £20.00	070	Lincoln cathedral roof timber and 2 Osborne
345	A mixed lot of costume jewellery including		plaques. £20.00 - £30.00
	necklaces, brooches, earrings etc., £10.00 - £20.00	374	A cased knife, fork and spoon together with other cutlery. £10.00 - £20.00
inc	3 boxed Heritage collection pocket watches including Moonphase and skeleton, all with	375	A mixed lot of coins. £10.00 - £20.00
	mechanical movements. £20.00 - £30.00	376	A mixed lot of copper and nickel coins (mainly
347	A box of vintage lighters. £10.00 - £20.00		British) from 19/20th century and 2 1923 German bank notes. £10.00 - £20.00
348	A small quantity of foreign coins. £10.00 - £15.00	377	
349	A small quantity of coins including silver threepenny bits. £10.00 - £20.00		£20.00
348	A small quantity of foreign coins. £10.00 - £15.00 A small quantity of coins including silver	377	2 vintage camera's and one other item. £10.00 -

378	22 ladies and gents wrist watches including Indiglo, Lorus, Rotary, Timex etc and a quantity of batteries. £10.00 - £20.00		£20.00
		407	An oak circular dining table and 6 chairs. £40.00 - £60.00
379	A quantity of postcards. £10.00 - £15.00	408	3 old copper plaques. £15.00 - £20.00
380	A jewellery box and contents. £10.00 - £20.00	409	An oak tea trolley. £10.00 - £20.00
381	A quantity of tins and boxes of old buttons. £10.00	410	A French style telephone seat. £20.00 - £30.00
382	- £20.00 A quantity of wrist watches. £10.00 - £20.00	411	A 1930's Delpine floral fine bone china tea set. £10.00 - £20.00
383	A set of 11 Robinson's Golly footballers. £10.00 -	412	A yew wood effect cabinet,. £15.00 - £20.00
	£20.00 A set of 8 Robinson's Golly band figures. £10.00 -	413	A musical inlaid sewing table. £20.00 - £30.00
384		414	An oak cabinet. £20.00 - £30.00
205	£20.00	415	A 2 door cupboard with New York scene featuring
385	8 boxes and boxed sets of 12" albums. £40.00 - £60.00		Brooklyn Bridge £10.00 - £20.00
386	2 stoneware jugs, £10.00 - £20.00	416	3 collectable teddy bears, one on toboggan, one on bicycle and one on rocking chair. £15.00 -
387	A nest of 3 tiled top tables. £15.00 - £20.00		£20.00
388	3 stoneware jugs, a stoneware teapot and a	417	A folding cake stand. £10.00 - £20.00
200	miniature stoneware jug, some a/f. £10.00 - £20.00	418	A key wind mantel clock. £10.00 - £20.00
389	A quantity of J E Heath Ltd Erica hotel tea ware etc., £10.00 - £20.00	419	A mahogany bow front side table. £15.00 - £20.00
390	Approximately 10 carved walking sticks. £20.00 - £30.00	420	3 items of barge ware (lidded pot, watering can and mop bucket). £20.00 - £30.00
391	A small carved sewing table. £20.00 - £30.00	421	2 tool boxes of assorted tools including spanners. £10.00 - £20.00
392	A collection of old street maps and atlases. £10.00 - £20.00	422	A new cased camping stove and a folding stool.
393	A set of 3 graduated white wicker pattern jugs.		£10.00 - £20.00
	£10.00 - £20.00	423	A box of lead working tools (sheet metal formers & soldering bars) and a tool box of woodworking
394	2 glass fruit bowls, a glass horse and a pewter		tools including hand drill. £10.00 - £20.00
	statue of a sailor. £10.00 - £20.00	424	A box and a small tool box of hand tools including
395	A 3 piece silver plate (EPBM) tea set. £10.00 - £20.00		spanner, socket set etc., £10.00 - £20.00
396	An interesting collection of naval books and earlier magazines, £10.00 - £20.00	425	2 boxes of framed and glazed prints and pictures. £20.00 - £30.00
397	A mixed lot of porcelain vases, jug, glass	426	2 old pumps. £10.00 - £20.00
557	decanter, chromed metal tray, cuff links etc.,	427	A 2 drawer chest. £10.00 - £20.00
	£10.00 - £20.00	428	A carved oak chair. £40.00 - £60.00
398	An Italian style tea trolley. £20.00 - £30.00	429	A collection of games (cards and chess) and
399	A mixed lot of glassware including jugs, vases,		empty tins. £10.00 - £20.00
400	bowls, trays etc., £10.00 - £20.00 A boxed brass surveyor's levelling site and a	430	A mixed lot of glassware including vases, bowls, basket etc., £10.00 - £20.00
	boxed modern example. £40.00 - £60.00	431	A 3 tier stand. £10.00 - £15.00
401	A piano stool manufactured in the mid 20th century by Armstrong Ltd of Hull. £10.00 - £20.00	432	A pair of hexagonal lidded vases in an oriental style. £20.00 - £30.00
402	A large blue and gilt lidded vase decorated with peacocks. £20.00 - £30.00	433	In excess of 30 pieces of Adderley's tea ware (Impression marks faint). £10.00 - £20.00
403	A Westminster chime mantel clock with original pendulum and key. £10.00 - £20.00	434	A galleried tripod table. £10.00 - £20.00
		435	A miscellaneous lot being 2 hand bags, a table
404	A nest of 3 tables. £10.00 - £20.00		lamp, a radio, a painted wooden box, a circular
405	A collection of vintage camera's including Kodak 'Instamatic', 35mm etc., some with lenses and accessories. £20.00 - £30.00	400	patterned box and an umbrella. £20.00 - £30.00
		436	A circular table with marble top and gilt gallery.
	accessories. £20.00 - £30.00		£15.00 - £20.00

2 graduated jugs with hunting scenes. £10.00 -

BidMaster Office

4 brass candle lamps with brass shades. £10.00 -

406

	£20.00	479	A Camphor wood chest. £30.00 - £40.00
438	A pink bedroom chair. £10.00 - £20.00	480	4 boxes of costume dolls. £10.00 - £20.00
439	A lyre back chair. £10.00 - £20.00	481	A metal garden bench. £20.00 - £30.00
440	A ship's decanter and a claret jug. £10.00 - £20.00	482	A quantity of small gilded photograph and picture
441	A small formica drop leaf table. £8.00 - £10.00		frames. £10.00 - £20.00
442	A mixed lot of metal ware. £10.00 - £20.00	483	An electric table lamp in the form of an oil lamp with glass font and shade. £30.00 - £40.00
443	A small table. £8.00 - £10.00	484	A nest of 3 glass topped tables. £10.00 - £20.00
444	A circular oak table. £20.00 - £30.00	485	In excess of 40 duck ornaments. £10.00 - £20.00
445	A modern television stand. £10.00 - £15.00	486	A teak desk. £15.00 - £20.00
446	A set of 4 painted bent wood chairs. £20.00 - £30.00	487	2 boxes of tapes, CD's and games. £10.00 - £20.00
447	An oak fold over table. £20.00 - £30.00	488	A nest of 3 tables. £10.00 - £20.00
448	A copper log box. £10.00 - £20.00	489	A pine tea trolley. £10.00 - £20.00
449	A lacquered what not. £10.00 - £20.00	490	A tray of brass and copper. £10.00 - £20.00
450	A 2 door cupboard. £10.00 - £20.00	491	A hi fi in cabinet a/f. £10.00 - £20.00
451	A piano stool. £10.00 - £20.00	492	A stool. £5.00 - £8.00
452	An oak gate leg table. £15.00 - £20.00	493	A piano stool. £10.00 - £20.00
453	An anniversary clock. £15.00 - £20.00	494	A small mahogany inlaid table £10.00 - £15.00
454	A nest of 3 tables. £10.00 - £20.00	495	A pine 3 drawer chest. £10.00 - £20.00
455	A 3 over 2 chest of drawers. £20.00 - £30.00	496	A wicker bedroom chair. £10.00 - £15.00
456	A JVC television. £20.00 - £30.00	490	A mahogany coffee table with glass top, £10.00 -
457	2 3 drawer white bedside chests. £10.00 - £20.00	431	£20.00
458	A Sony DVD player, 3 boxes of DVD's and a storage cabinet. £20.00 - £30.00	498	An oak school desk with sliding top. £15.00 - £20.00
459	A coffee table. £10.00 - £20.00	499	A stool. £5.00 - £8.00
460	A pair of jugs and 2 vases. £10.00 - £20.00	500	A pine table. £10.00 - £20.00
461	2 sewing machines. £10.00 - £20.00	501	A small collection of fabrics, wall hangings,
462	A mahogany table. £15.00 - £20.00		cushion cover etc., £10.00 - £20.00
463	A stool. £8.00 - £10.00	502	A large ruby cut glass table lamp. £80.00 - £120.00
464	An Aynsley sugar bowl and milk jug together with 3 other items. £10.00 - £20.00	503 504	A quantity of blankets and throws. £10.00 - £20.00  A modern dining table and 6 chairs, £30.00 -
465	A 2 over 3 pine chest of drawers. £30.00 - £40.00	001	£40.00
466	A jewellery display case. £20.00 - £30.00	505	An oil on canvas of a sailing boat in a storm
467	A circular pine table. £20.00 - £30.00		(signed) and a gouache of horse and hounds
468	4 electric ceiling lights. £10.00 - £20.00	506	outside a pub. £10.00 - £20.00
469	2 blue and white platters and other ceramics. £10.00 - £20.00		A mixed lot of silver plate and other metal ware. £10.00 - £20.00
470	6 assorted figures. £10.00 - £20.00	507	A framed and glazed watercolour, European school. £10.00 - £20.00
471	A pine bedside cabinet. £15.00 - £20.00	508	A wardrobe with matching chest of drawers and
472	4 Limoges plates. £10.00 - £20.00		stool. £30.00 - £40.00
473	A good quality oak sideboard. £40.00 - £60.00	509	A wall clock. £10.00 - £20.00
474	A Panasonic television. £20.00 - £30.00	510	A pine toilet mirror with drawer. £10.00 - £20.00
475	A stained pine television stand. £10.00 - £20.00	511	An Eagles Hotel California 30th anniversary
476	3 Royal Doulton plates,a Limoges pot etc., £10.00 - £20.00	512	poster. £10.00 - £20.00 A pair of carpet runners, approximately 242 x 84
477	A mahogany pot cupboard. £20.00 - £30.00		cm (95.5" x 33"). £20.00 - £30.00
478		- 40	A I I II I I OOO OO
4/0	A mahogany drop leaf table on tapered legs.	513	A mahogany hall stand. £20.00 - £30.00

	wall lights. £20.00 - £30.00	548	3 framed and glazed floral studies. £10.00 - £20.00
515	A quantity of vases some with silk flowers. £10.00 - £20.00	549	A grey patterned rug, 230 x 170 cm. £15.00 - £20.00
516	A large collection of porcelain pomanders. £10.00 - £20.00	550	A burgundy leather 3 seat sofa, 2 seat sofa, chair and stool. £30.00 - £40.00
517	A quantity of Avon bottles. £10.00 - £20.00	551	A rectangular pale blue floral pattern Chinese rug,
518	A magazine rack and 2 waste bins. £10.00 -	EE0	300 x 180 cm. £15.00 - £20.00
519	£15.00 An oak wardrobe. £30.00 - £50.00	552 553	A pine framed mirror. £10.00 - £20.00  3 framed and glazed bird prints. £10.00 - £20.00
520	A framed and glazed watercolour of The Cutty	554	4 ceiling lights and 3 matching double wall lights.
	Sark, signed R Macgregor? £10.00 - £20.00		£20.00 - £30.00
521	2 shelves of books on quilting, embroidery, knitting etc., £10.00 - £20.00	555	4 bottles of alcohol including sherry. £10.00 - £20.00
522	In excess of 250 assorted CD's. £20.00 - £30.00	556	An oak dresser. £20.00 - £30.00
523	14 pig ornaments,. £10.00 - £20.00	557	A corner cabinet. £10.00 - £20.00
524	A Panasonic DVD player. £10.00 - £20.00	558	A wall mirror. £10.00 - £20.00
525	A gilt framed and glazed farming scene. £15.00 -	559	A Samsung television. £10.00 - £20.00
F00	£20.00	560	A bureau. £10.00 - £20.00
526 527	A collection of 12 crystal animals. £10.00 - £20.00	561	A box of assorted posters. £10.00 - £20.00
	a se tof 11 Cavershall china 'Country Diary of an Edwardian Lady' collector's plates. £15.00 - £20.00	562	An extending dining table and 8 chairs. £40.00 - £60.00
528	An oak dresser with lead glazed doors, one glass a/f. £20.00 - £30.00	563	3 patchwork quilts. £30.00 - £40.00
529	A framed and glazed set of racehorse cigarette cards. £10.00 - £20.00	564	A portfolio of pictures including watercolours, drawings, prints etc. £30.00 - £40.00
530	A Victorian gilt framed portrait of an elderly lady in	565	A leather 3 seat sofa and chair. £20.00 - £30.00
	a glass case. £40.00 - £60.00	566	A 2 seat sofa. £10.00 - £20.00
531	A Sony Bravia television. £20.00 - £30.00	567	A set of 4 chairs. £10.00 - £20.00
532	A 2 over 4 pine chest of drawers. £20.00 - £30.00	568	A cream chair and stool. £10.00 - £20.00
533	2 oil paintings of river scenes with one signed M S	569	2 conservatory chairs and a table. £10.00 - £20.00
	Yeung. £10.00 - £20.00	570	2 kitchen chairs, £10.00 - £20.00
534	An old American organ. £20.00 - £30.00	571	A set of 4 Lloyd loom style chairs. £20.00 - £30.00
535	A wall hung cabinet with light and fixtures. £10.00 - £20.00	572	A modern bureau. £15.00 - £20.00
536	An oval blue patterned rug, 220 x 146 cm. £15.00 -	573	A 5 drawer chest. £20.00 - £30.00
	£20.00	574	A fire screen with tapestry inset. £10.00 - £20.00
537	A copper warming pan. £10.00 - £20.00	575 576	A coffee table. £10.00 - £20.00
538	A gilt framed mirror and a gilded cherub. £15.00 -	576 577	5 oils on canvas of sailing ships. £15.00 - £20.00 An oak dining table and 6 chairs. £30.00 - £40.00
500	£20.00	578	A canteen of cutlery. £20.00 - £30.00
539	An LG television. £15.00 - £20.00	579	A table and 4 chairs. £20.00 - £30.00
540	A bird group and a vase. £10.00 - £15.00	580	A tripod table. £10.00 - £20.00
541	A mahogany astragal glazed cabinet. £40.00 - £60.00	581	A side table. £10.00 - £20.00
542	2 shelves of assorted figures. £10.00 - £20.00	582	An oak arm chair. £10.00 - £20.00
543	A large gilt framed bevel edged mirror. £20.00 -	583	A mahogany occasional table. a/f £15.00 - £20.00
	£30.00	584	A watercolour of river in valley with children playing
544	A Nautilus porcelain tea set. £10.00 - £20.00		at waters edge initialled DPN/ and 2 oil paintings
545	A pine toilet mirror. £15.00 - £20.00		by Barbara Nicholson of Claythorpe Mill and Loch Ard Perthshire. £10.00 - £20.00
546	An anniversary clock. £10.00 - £20.00	585	5 barometers. £20.00 - £30.00
547	A modern desk and stool. £20.00 - £30.00	586	A red ground rug, 150 x 80 cm. £15.00 - £20.00
			2. g. 2

- 587 An oak court cupboard. £15.00 £20.00
- 588 A brown, cream and tan paisley patterned rug, 236 x 181 cm. £15.00 £20.00
- 589 A 'Gewel Mattex' zebra patterned rug, 229 x 160 cm. £20.00 £30.00
- 590 A quantity of books by Robert Jordan, Dragon Lance, David Weber etc., £10.00 £20.00
- 591 A quantity of Classic Rock magazine. £10.00 £20.00
- 592 A quantity of maps. £10.00 £15.00
- 593 A red 'Rutland' rug, 219 x 161 cm. £10.00 £20.00
- 594 A Ferghan rug, 229 x 171 cm. £15.00 £20.00
- 595 A wine rack. £10.00 £15.00
- 596 11 Assorted Toby jugs. £10.00 £20.00
- 597 4 shelves of books. £10.00 £20.00
- 598 A good quality book case. £20.00 £30.00
- 599 3 vintage suitcases. £10.00 £20.00
- 600 2 wardrobes. £20.00 £30.00
- 601 2 chairs, 1 a/f,. £10.00 £20.00